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BHA 0I0IXI & : 2F 4500%t LH2) H
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o5 010IXI & : 2 2000%! LHeI
£X : 0l0IXI 28!

for word in garbage list:
print(word)
dir_name = ‘C:/work/psou/final_eco/Crawling/" + word
word = word
google_crawler = GoogleImageCrawler(parser_threads=2, downloader_threads=4,
storage={ 'root dir': dir_name})

google_crawler.crawl(keyword= word, max_num=508@,
min_size=(200,200), max_size=None)
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R =4 EiA

dist people GRDP highedu Gamount

: HIS WIS KIS, AS, DRAZ I XH0I0) 23 241 =X =21 161 173117 0.50 284.3
3 ==1 128 371717 0.44 434 .3
:HN IS T SC0H Y HN IS 2621 =% &1 X2 4 S 228 43216 0.53 240.1

DI, TSN B R AF0 OHE M2 X187 2 HIISE =2A
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- people : MSA| U 2 Q14 (EHQ TY)

= GRDP : 2 1 1QIEh X Ak

- Highedu : 2t 184 NOERITHCHSY 014 EXL) HIZ
- Gamount : 2 Y HIIE = 2H(E/Y

-

:RE 0I2¢ [IiE30Y, Er22|RI2, OIERI2A

- "HIS HHEZFQ| X121 K0 |0Hl 24T SA1
(0122, 1998, 'HSHKIZIEEIXI MI33H 2% 209~224")

- ZAWA: Gamount LIWHNSEY
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(2019H1E FHHLNILUES| =2F - SRUWA: People WOIRA
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R =4 EiA

test_mode] <- Im(Gamount ~ people + GRDP + highedu, data = garbage)

29

people GRDP highedu
1.864249 1.678848 1.314620 3Mel sS4 BE vif 01 102 Xl $_B2 [=

THEA, SIS U AFRR2HAL QACHD 2o & 2 QUC
Start: AIC=210.75
Gamount ~ people + GRDP + highedu
B4 MEN WO R StepwiseS MENGIULE
Df sum of sq RSS AIC 1RO O] 1A O MEH §I U 21O
<none> 83189 210.75 TURSEIWA B ELCREXER
- highedu 1 24868 108057 215.29
- GRDP 1 59120 142309 222.17
- people 1 64610 147799 223.12




R =4 EiA

Coefficients:

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) 3.282e+02 2.458e+01 13.353 2.55e-12 ***
garbage$GRDP 3.809e-04 2.745e-04 1.387 0.179

Signif. codes: 0 ‘***’ 0.001 ‘**” 0.01 “*’ 0.05 “.” 0.1 * " 1

Estimate Std. Error t value Pr(>|t])
(Intercept) 2.76 87.52 0.032 0.975111
garbage$highedu 698.24 174.64 3.998 0.000565 *=*=*

Signif. codes: 0 “***’ 0.001 ‘**’ 0.01 “*’ 0.05 “.” 0.1 “ " 1

Residual standard error: 83.21 on 23 degrees of freedom
Multiple R-squared: 0.41, Adjusted R-squared: 0.3844
F-statistic: 15.98 on 1 and 23 DF, p-value: 0.0005652

Residual standard error: 104.1 on 23 degrees of freedom
Multiple R-squared: 0.07723, Adjusted R-squared: 0.03711
F-statistic: 1.925 on 1 and 23 DF, p-value: 0.1786

Gamount
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- p-value: 0.0005652 € 0.05 - p-value: 0.1786 > 0.05
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R =4 EiA

Coefficients:

(Intercept)
garbage$people

Signif. codes:

Estimate Std. Error t value Pr(G|t]|)

195.8177
0.3790

65.2520
0.1569

3.001 0.00638 *=*
2.415 0.02410 =

0 ‘=== 0.001

“xx7 0,01 “*’ 0.05 °.

] 0-1 1

Residual standard error: 96.76 on 23 degrees of freedom

Multiple R-squared:

0.2022,

Adjusted R-squared:

F-statistic: 5.831 on 1 and 23 DF,

p-value: 0.0241

- p-value: 0.0241 € 0.05
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R =4 EiA

Coefficients:

Estimate Std. Error t value Pr(>|t]|)
(Intercept) -1.035e+02 7.117e+01 -1.454 0.160636
people 5.629e-01 1.394e-01 4.039 0.000593 ===
GRDP 8.312e-04 2.151e-04 3.863 0.000901 *==
highedu 3.795e+02 1.515e+02 2.506 0.020532 =

Signif. codes: 0 ‘***’ 0.001L ‘**' 0.01 “*’ 0.05 “.” 0.1 * ' 1

df AIC
mode | 3 295.9295

mode3 3 307.1121
mode14 3 303.4726
mul_model 5 283.6967

Residual standard error: 62.94 on 21 degrees of freedom
Multiple R-squared: 0.6918, Adjusted R-squared: 0.6478
F-statistic: 15.71 on 3 and 21 DF, p-value: 1.377e-05

- p-value: 1.377e-05 € 0.05 - AIC 28 HIR 1D} CH=E 2|22 (mul_model) RE! 0] I SEHI LEEFHCE,
DAL 2L QI/QIEE BdMpr/BE2 W HN IS 22l XHOITHUCH = AIC20] THE Y2 [H= 2IRISA RH0| MY MG THEr ECH

ili cllo|Zopzgn|



R =4 EiA

Coefficients:
Estimate Std. Error t value Pr(>|t|)
(Intercept) -1.035e+02 7.117e+01 -1.454 0.160636
5.629e-01 1.394e-01 4.039 0.000593 ===
8.312e-04 2.151e-04 3.863 0.000901 #=*=

3.795e+02 1.515e+02  2.506 0.020532 * - 2015HE HIOIE] 0122 ChA PXHEH KIOIH US 2 UCHS Hah £IA HIOIEIS
F5HX| REHCHS H0| MY 0HIS Hoz BYILt

Signif. codes: 0 ‘***’ 0,001 ‘**’ 0.01 ‘*’ 0.05 “.” 0.1 * ' 1

Residual standard error: 62.94 on 21 degrees of freedom - GIOIE] 2kC 2XH ( 17 W0 & 4 uiofl SAUCH=H)
Multiple R-squared: 0.6918, Adjusted R-squared: 0.6478

F-statistic: 15.71 on 3 and 21 DF, p'Va.Iue: 1.377e-05 - E“0|E"-"'-”.-”. AKX |E 'llOIE*Olm, EE!EHHI |°_';l¢2| E§0| gxo{ki [l'oot?_'.

- Tg—

Y (Bias)0| L E £ ACH= A

- CIE2I24 322 y = -1.035e+02 + 5.629e-01 * people + 8.312e-
04 * GRDP + 3,795e+02 * highedu

- CI2 WA E BHGIUSE T people2 2F 0.5629 ETH51UD, GRDPE &4
0.0008312 E1I6IUCM, highedue 2 379.5 ST NS 201 8t A7} QUCH

- RS S8 HLAE p-valuell R2ILE 0.058C1 21282 SHESZ QOIoICH
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( LIOIE! &AEl )

train_dir = "500data/train”

categories = ["can", "glass”, "paper”, "plastic”, "st", "vinyl"]
# WYH : can 22, paper 21, st 16, vinyl 15

nb_classes = len(categories)

image_w = 64

image_h = 64

X =[] # AW sjst AIZIA

y=[] #1label [106000080] ...

for idx, cate in enumerate(categories):
# one-hot
label = [@ for i in range(nb_classes)]
label[idx] =

img_dir = train_dir + "/" + cate
files = glob.glob(img_dir + “/*.jpg")
#print(cate, " oY Zi%:", len(files))

for i, f in enumerate(files): # i(=M) f(HLZE=2Y)

img = Image.open(f)
img = img.convert(“RGB")
img = img.resize((image_w, image_h))

data = np.asarray(img) # HiZs}

X.append(data)
y.append(label)

np.array(X) # 4xglc=z!
np.array(y)

( train / test 22l )

X_train, X_test, y_train, y_test = train_test_split(X, y)

= (X_train, X_test, y_train, y test)
------"» o2 &

np.save( "data/train data 1.npy", xy)
2ltfst )

(3T 2US ACHHIOIEH S& =3

augment_size = 10000 # HEE 0[OjX] 1T7f TS|

randidx = np.random.randint(X_train.shape[@], size = augment_size)
print( ‘randidx : ', len(randidx)) # 10000

x_augment = X_train[randidx].copy()

y_augment = y_train[randidx].copy()

img_gen.flow(x_augment,
np.zeros(augment_size),
batch_size = augment_size,
shuffle = False).next()[@]

X_augment

X_train = np.concatenate((X_train, x_augment))
y_train = np.concatenate((y_train, y_augment))
print(X_train.shape) # (11875, 28, 28, 3)
print(y_train.shape) # (11875, 9)

Luts}

train = X_train.astype(float) / 255
test =

#
X_
X_tes X_test.astype(float) / 255
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(I3 ¥y)

# 2
model = Sequential()

model.add(Conv2D(32, (3,3), padding="same”, input_shape=X_train.shape[1:], activation="relu’)) o

model.add(MaxPooling2D(pool_size=(2,2)))
model.add(Dropout(@.25))

model.add(Conv2D(64, (3,3), padding="same”, activation="relu’))
model.add(MaxPooling2D(pool_size=(2,2)))
model.add(Dropout(0.25))

model.add(Flatten())

model.add(Dense(256, activation="'relu’))
model.add(Dropout(2.5))
model.add(Dense(nb_classes, activation='softmax"))

184

16+

14+

1.2+

1.0 4

epochs

AYHNIE 2L

loss: 0.3410 - accuracy: 0.8762
val_loss: 0.5506 - val_accuracy: 0.8290
h HNIE 2

loss: 0.2100 - accuracy: 0.9214
val_loss: 0.4061 - val_accuracy: 0.8740

model.compile(loss="categorical crossentropy', optimizer='adam’, metrics=[ ‘accuracy'])

model_path = "model/model 1.hdf5"

checkpoint = ModelCheckpoint(filepath=model_path , monitor="val loss’, verbose=@, save_best_only=True)

early stopping = EarlyStopping(monitor=‘val loss’, patience=5)

history = model.fit(X_train, y_train, batch_size=128, epochs=200, validation_split=0.2, \

callbacks=[checkpoint, early_stopping])
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for i in prediction: 02:3411-1086
pred_1lb = i.argmax() # OIZ o=
#print(i) # Hig
#print(pred_lb) # =Xt
pred_lb_name = "’
if pred_1lb == @:

pred_lb_name = “can”

print(” /5 "+filenames[cnt].split(”\\")[1]+" 0/0/7/5= "+pred_lb_name+" = FFHEL/LL ™)
elif pred_lb == 1:

02-568-6705

HEE AfME
SHS, U813

02-567-2240

pred_lb_name = "gL ass" 1) ER : wA, ZOH(SRW, S2AW, 1212 S0/Y), VEF S0IF (AKX, TDHET), TIT,
print("3/5 "+filenames[cnt].split(”\\")[1]+" 0/Z/7/= "+pred_lb_name+" = F=EFEL/LL ") soszu gns)
elif pred_lb == 2: 2 memaas
PEESS 0 =i = . Z0/m : (hEES uIeT 2= v U T LT =2
pred_lb_name = paper ES01 WL 2 S0 BRI,
print("#/% "+filenames[cnt].split("\\")[1]+"0/0/7/= “+pred_lb_name+"= FFEL/CA ") (0= e % L B S0 B2RT)
elif pred_lb == 3: 10t S0I% : Z0ILE 20 XX &H 20+ 30cm SER [0 BB USVLH
Y " . n 3) ol :
pr?d_lb_name = . plastic 2 ' - CHE S0IR2H 40X SES BEol B2l AUYE DRIISE B
print("#/5 "+filenames[cnt].split("\\")[1]+"0/0/7/= "+pred_lb_name+" = FFEL/LL ") - 22E0IL §RAH F | UESD HIEANE T0| BEIDR IR
elif pred 1b == : - HIS BRI AT| YIS =, YILITH, D2 AT S2 NS T RS
pred ib name = Sppe - SR LigiX), RTINS MIETh
print("#/% "+filenames[cnt].split(”\\")[1]+"0/0/7/= "+pred_lb_name+"= FHFEL/LLT) T
else:
pred_lb_name = "‘V 7. ny L - T B JQICE YHH2ML HashN

: print( "3/ "+filenames[cnt].split(”\\")[1]+"0/0/7= "+pred_lb_name+" = FEFEL/CL ")
pred_lb_name_vali.append(pred_lb_name) # 0|=E 2hd HE
cnt += 1



def wordcloudFunc(request):
query = request.GET.get( 'search’)
query = query.replace(’ ', '+')

url ="https://search.naver.com/search.naver?where=news
&sm=tab_jum&query={}"
req = requests.get(url.format(query))

#tres = req.urlopen(url)
soup = BeautifulSoup(req.text, "html.parser")

a_tags = soup.find_all("a"”, {'class':"news tit"})

=) BeautifulSoup 0I2
FANAFASY

sentences_tag = okt.pos(text) —} GIEHA SA1
for word, tag in sentences_tag:

if tag in [ 'Noun' , 'Adjective']:
noun_adj_list.append(word) —} QIAL2} BIALO! EHOY

counts = Counter(noun_adj_list)
tags = counts.most_common(100) ==l THEH 40| LIEHLE=

€01 10070 XZE

wc = WordCloud(font_path=r'C:/work/psou/final/app/NanumGothic-
Regular.ttf', mask= mask, background color="white",

max_font size=66)

cloud = wc.generate_from_frequencies(dict(tags))

—p IcZatec =3

Hjel2 2 Fot7t7|

04953?did=NA
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